25

el UOLUOUOLOOUOOONO

6.1 U0OOOOOOO0OO0

[oo0o0o00o0o0ooooooo0od0 mOoOOoUOOOO0OODO “000”00000
goooboboooboobobooboobobooboboobooboboobog
bom>200000000000 mUO0 OO0 OO0 mOOO0oOOOoOOODO
0000000 jm|000000000O00O0CO0O0 ODO0OOOOUOOOOOOOOO
gobobooobooobooboobobobobo

0 6.1 543219876 0 19 0000000000000 0D 5432197 000000000
000000000 000000 5432=17=-2 (mod 19) 00O (-2)1¥¢ 00000
00000 0D000(=2)2=-2-(24)2=-2-162=-2-(-3)2=-18=1 (mod 19) O
00000 000019876 =4 (mod 9) 00019876 =4+9k (k€ Z)0DOO0O0O

543219876 = (_2)19876 — (_9)4+9% — (_9y4. (_2)% =16.1=16 (mod 19).
00000000 160000

000000019876 =4 (mod 9) OO OD0OOO0O0ODOOO0OOOODOOOOODO
gbooboobooooboobooog

19876 — 14+94+8+7+6=31 — 34+1=4 OO0 19876=4 (mod 9).

000000000000000000000000 «0 10000000000000
0000000000 D(e) 0000 00000D(19876) =31, D(65228) =23 0000
0000000 « 0000 ag,a1,a2,-- ,ay (ax 0 10F0000)0000

a=ap+a; x10+as x 10>+ -+ ay x 107, D(a)=ap+a1+as+---+an

0000010=1 (mod9) D00a= D(a) (mod9) 0000 OOOODOO0O0O0O0O
00000«0000000000 900000 000000000000000000
000000000000000 D(e)00000D(a)=D(a) (mod 9)0000000
0000000000

00 6.2 000000 ¢« 00000a= D(a) (mod 9)0

2014000000000000020140 1000 ver.1025
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0000e0 90000000000 D(e)=000000 0000 10=1 (mod 3)
00000000 3000000000000 000000000 (3,6,90000
0 000000)000000000000000000000000 D'(e) 00000
a=D'(a) (mod3) 0000 00000D0300000000000000000000

0000DO0O0O0D0000D000D0O000000000000000000000 O
00000000000 a+b=c000000000e,b000000000 90000
00 000000000000000000000000000000000000 O
0000000000000000000000000 0000000000 0000
0000000000000000000000000000000000000 (000
000)000000000000

[ 0000000000000000000000000 000000000000
00 4000000000000 «0000000000 @2=0 (mod4) 000000
000 a=+1 (mod4) 00 a®2=1 (mod4) 0000 0000000000000

ub 6.3 00 «0O0OO0OOO

a25

0 (mod4) («0DODO),
1 (mod8) (aDDODO).

00 «D00000000000 D000 a=41 (mod4) 000000 a = +1+ 4k
(keZ)ODO00 000 a2=1+8k+16k*=1 (mod 8) D000 O
0000000000000000000000000000000000000000

0 6.4 00 abc0 a>+0*=c200000000ab=0 (mod4) 000000
00D0e,b0000000000ab=0 (mod4) 000000000000000 OO0
0,b 0000000000000 « 0000000 0000 00000000

A=ad?+bv"=1+1=2 (mod 4)
0000000000000 000 b0000cO000000O0b=2V 00000
42 ==c*-a>*=1-1=0 (mod 8), S V?P=0 (mod 2).
00000y 000000000 b0 40000000000 ab=0 (mod4) 0000

oD 4000 800000000003 000O0000O00ODO00ODOO0OODO 500
gbooboobooooboboooobooooboobooooobo

6.2 00O

oobooooooooobooooooooooooo0 mOOODOOODOOOO “O0O
o”o0oo0o0o00oo0oo0c0 0bmO0O00OD0OO00OD0OmODOOO0ODOODOOODOODO
gboooooobooooobobooooboboboobob boboooobobooboog
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00 e5meZ0000 Z20O0OOOOODOOO RO

e a,beROOO a=b (mod m).
eaceRUOOa=c(modm)0000O0ceR.

goboobodab n0b00o0boobobn

booooobooboooboobooobooboooobooooboOobooooobooon
oboooboobooooboboooboobobooobobooon

00 6.6 00 mOI00 ¢« 000002 =a (modm) 000000 2000000
a+mZ 0000

a+mZ={xeZ| z=a (modm)}.
0+mZ0 mZ 0000000 O00DOODO0ODOD0ODDODOmUOO0DOODOOODOOOO
a00000000D00O0 O0ODDO a=a+mZO

oo 6700 mnO0O0O00O0D0O0O0OODO

(1) OO «eO0ODO0OOO0 e+mZ OO mO000O0OODOOOOO
(2) ROOD mODOOO0ODOOO0O0OO0O0O0 eeROO0O0O R=a+mZ0O00O0OO

00 (1) e+mZ0OOOD65000000000000000000000Ox,y € a+mZ
0000 z=a=y (modm) 000000 O00z€a+mZ 00 z=2 (modm) O
O00z=z=a (modm) 00 z€ca+mZ 0000

(2) ae ROODO R=e¢+mZ 000000000000 OOOOOO0 xeRO0OO
O00065000000000 2=a (modm)000000xz€a+mZO0OO0O0
RCa+mZO00DOD0O00DO0D0000002x€a+mZ00000000e=2 (modm)
OoOOe6s000000000O0 xcRODOOO0 a+mZCcROOOOOO O

O000000e+mZ 0000 “%«000000D0”000000000 OOO
a=b (modm) < a€b+mZ < bea+mZ < a+mZ=b+mZ
goooobobooooodgo

b 68 00 mUiDO0ODOO mUOdDOOD0OO0OO0ODOODODODOOOOODO mO0O0O
00000000Z/mZ0O00O0O0 O0O0D0OOOO

Z/mZ={a+mZ |acZ}.

oooooo0ooo mOO0OO000000 e+mZ0 c0000 000 mOO0O0000
mO0O0O000000000 mOO0O00 OOODOOOOODOO mOooooQOoL2,---,m
oboooooobooboooboboooooboooooon

Z=0UTu2U---Um—1, anb=¢ (0<a<b<m).
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gogoooo
Z/mZ:{G,T,Zu-,m—l}

Z/57Z = {7810, —99, 382, 3851, 087 — 128}

gbooooboooobooboooobobooooobooooobooobo

6.3 U0OOOO0OOO

gooooooooooo
ay =ag, by =by (mod m) = ay+b; =ag+bs, a1by =azby (mod m)

oboboboboboboboonos20b0 Oboboboboboboboboboo
gobgobooboobooboobooboboobooboobooboobobooboo
o0 oooo«coor’o ‘0’0 “0’bDoO000DbO0O000DO0oO0oooOog

00 6.9 000 a+mZ,b+mZ € Z/mZ00000000000OODO
(a+mZ)+ (b+mZ)=(a+b)+mZ, (a+mZ)(b+mZ) = (ab) + mZ

gbooooood

doooooooooooooog
a+b=a+b, ab = ab

gbobooooooobo ooooooooboboboobooooooo ooboooro
0000 2+3=5002-3=600..00003+5=104-6=300000000
goooooooobo..0bboboboog

a+b=¢, ab=d
gooooobobobood
a+b=c, ab=d (modm)

gboboobooobooboooboooboboouooooooboobooboobooobo oo
goboodobooobooooooooooooobooooboooobooooooboooon
ooooooOoooo0oO0ooOoOOoO00DOO OOo00DoO00 000000 azx=b6
(modm) 00Z/mZ 000000000 ar=000000000000000000
gbobooo oboogbobo c00000o0oooobooboobooooboooobooon
0000 Z/mZOOOUOODOOOOOOOOOOOOOOOOO



